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Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used

in___ . / U® 3 3TeH $I gda 3R qUS B qu SHA GUB RS § vgad gt 21
1. Operant conditioning / TohdT I SIEEH (3NTRC o I=I+)

2. Sign learning / Fopd SIEATH (T3 @)

3. Classical conditioning / 3{I®erd 3fehdT S (AR T Do =IT-1T)

4. Social learning / ITATRSTE AT (TreTd Sf-T)

Correct Answer :-

o Operant conditioning / WW Wﬂ:{ (sﬁtﬁ‘c' Hef )]

2) Separation anxiety is considerably reduced in the child by the age of: / 3= &I fw amg a7 #
g WR TG SIBdl HTHE HH gl ATl 6

1. 1-2 years/ 1-2 CL
2. 2-3 years / 2-3 CL
3. 3-4 years / 3-4 CL

4. 4-5 years / 4-5 CL

Correct Answer :-

e 3-4years/3-4 CL

3) What do IQ test measure? / §f3 afou(3Msay) H FT WIUT SIT4T 872
1. General intelligence / STHTRI §fG T

2. Specific abilities known as S factor / TH hRd FARW J1d ﬁﬁ]’g aQrgdr
3. Logical and linguistic intelligence / e 3R HTSTS §®T|T‘|T

4. Emotional intelligence / HIGATHED Tg’@ﬂ?ﬂ



Correct Answer :-
« General intelligence / STHI §fGHT

4) Which of the following is not a personality projective method of measurement? / Fafafaa d
{ - A7 B} TP Aaferre vandt faftr 78 32

1. Inkblot Test / SehediIc URI&UT

2. Sentence Completion Test/aquﬁ&m

3. Thematic Apperception Test /ﬁm‘rwuﬂm
4, Physical Test / YRING Tieo

Correct Answer :-

« Physical Test / TR TIT&0T

5) Which of the following is NOT a learning theory? / Fafafaa # @ s=-a1 Uh 3R &1 Rygia
e §?

1. Conceptualism / GUTTAIG

2. Behaviorism / dgRAlg

3. Cognitivism / GHTHDAIG

4, Constructivism / XdATHD G

Correct Answer :-

+ Conceptualism / UG

6) Students should be engaged in the process of learning as a that relates subject
matter to problem-solving skills. / Bl &1 AT Bt uftear & ©U H Gau g ilTl%'E{ S
JUET-JAg & SIa & vy F Jafia 21

1. communication experience/ TR BT AIHT
2. contextualized experience/ WTERTD 3Hd
3. task experience/ Gap| ST{Hd

4. collaboration experience/ ESREUED HJHdI

Correct Answer :-

« contextualized experience/ PISIUCE S{JHd

7) Choose the theorist whose theory talks about teaching machines and a programmed learning
system. / 39 RIGTAPR &1 997 B foraeT Rigia Rrer e iR g iftrm yormeft & way &
qarar gl



1. W. Kohler/m.w
2. B. F. Skinner /&1.T% "6

3. Pavlov / UTddId
4. E. Erikson /3 UR&G

Correct Answer :-

« B.F. Skinner /&1.U% fTpR

8) Creativity characteristics is: / Wﬁﬁ ﬁ"«ﬁ'ﬂ'd‘l‘l! %:
1. Photographic memory / TIcHITthe i

2. Divergent thinking / IEEKIIE]

3. Introvert / 31?@@
4, Fast learning / Atdl ST

Correct Answer :-

» Divergent thinking / IEEKIIES

9) The inclusion of children with disabilities in classroom is now a worldwide trend. /

_ aan & Ry gt @ R ST 9| U Ryamdt vee 21
1. Special / fafR1®

2. Mobile school / TTRITel ey &t

3. Regular / Fafard

4. Flip / foqa

Correct Answer :-

. Regular/ﬁ'q&lﬁ

10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years

is / TR T & Rigiad & e wRur st 1 A 3 af a@ i1 2 a8 2l
1. Identify vs. identify diffusion / UgdM S99 UGR &1 Ugd

2. Autonomy vs. shame / TITIIAT ST TH

3. Trust vs. mistrust / A4 =17 Sifayry

4. Initiative vs. guilt / gd d-TH UTY Y

Correct Answer :-

o Autonomy vs. shame / XAl d1H e



11) According to the Psychosexual Developmental Theory, the basic instincts are found in the

_ ./ uiafe e g s ogar, gaugmi & o ot 7
1. Unconscious / 3f<id

2. Conscious / T

3. Subconscious / 3fa<id

4. Superconscious / URH ELG]

Correct Answer :-

« Unconscious / 3/Td

12) Cognitive development does not study . | ST A BT AT 8l Hdl
=

1. Problem solving / T FaRoT
2. Memory / Fﬂﬁf

3. Language / HIYT
4. Relationships / Rl

Correct Answer :-

» Relationships / R=dl

13) The importance of play in education was mentioned by ./ Fren ¥ @9 & Ugd DI
____ gRISwited fearmar un

1. John Locke/ ST dich

2. Aristotle / 3R¥J
3. Plato / @ic!

4. Socrates / PId

Correct Answer :-

« Aristotle / 3R¥J

14) Affective domain of learning is characterized by aspect of our behaviour. / SfeRTH

ST YHTH U8 THR IER & UE g1 afvfd graT 31
1. leaming/\’ﬂf‘a"‘m

2. Feeling / Glﬂ‘l-ﬂ%f



3. Thinking / fd@R &4
4. Doing / & HH

Correct Answer :-

+ Feeling / erlﬂ‘l-ﬂ%f

15) ICT can increase in inclusive education. / FHTARN fRr&m # &néﬁ'é’r
T TPt g

1. all of these / SWRIed FH!

2. Access only / Had UEV?T

3. Equity only / Had AT
4. Efficiency only / Had G&fdl

Correct Answer :-

« all of these / IWRIgd It

16) What is the term used to denote the organized bodies of information that affect how we store,

interpret and process new information? / W%WW@%W%WWW
BT IUANT foraT STt 8 S SUR 7% a1 & TIE, ARSI 3R Ufhar &1 yutfad &ear 32

1. Seriation / P HI& I

2. Stressors / d-Id

3. Schemas / U (T 1HN)
4. Semantics / Xreqref

Correct Answer :-

 Schemas / FU@T (WD 1HT)

17) What is the term that is used to denote the process of retrieving a specific item of information

from memory? / {53 XTeg &1 IUTNT WA & JI-T & TS A=W 3AT5eH B I B 1 Ufehdr &l
fr=fia w31 & foe fParwrar 82

1. Recognition / TR
2. Retrieval cue / W@ Tobd
3. Recall / UATHRUT

4, Restructuring / GH&+

Correct Answer :-

e Recall / UATRHRT]



18) What is a characteristic of a child suffering from ADHD? / Eﬁ'@@ﬁ 3 Tﬂﬁ'a?l T BT TE&OT RIT

T g?

1. Motor problems / U gH=g

2. Speech deficits / CIGRCARIErIl

3. Intellectual disability / SifGe fadmarTar

4, Inattention / I

Correct Answer :-

¢ TInattention / -dYUT

19) What kind of personality trait is most commonly associated with being outgoing? /

3r3eng (FrTh) | f6w avg &1 safdrica 7ur Yaifte U | Gr=ad: JST g3 872
1. Extraversion / a'%jf['@lm
2. Introversion / &l?pf["@l?ﬂ

3. Depression / g
4, Neuroticism / AT

Correct Answer :-

» Extraversion/ a%ﬁ“@m

20) What is 16PF (Raymond Cattell’s)? / HS $ed BT )16PF FT 82
1. 16 Perfectionism factors / 16 U;UTHWI_C{ DPRD

2. 16 Personality failures / 16 HfRTaTe! B

3. 16 Personality factors / 16 Ffdqdidl RSB

4, 16 Personal facts / 16 SfaaiTd 9™

Correct Answer :-

» 16 Personality factors / 16 HfHRIAId HRB

21) To develop critical thinking among children, the teacher should give the students a lot of : /g

T Agcayul T fAwRid $31 & g, Riere o1 o ot srafye CRIE Y
1. Lectures/ SIS

2. Assignments / Uad ap] (\Hﬂ'lgtlﬁ?)
3. Notes / femfori



4. Impositions / fERITT

Correct Answer :-

« Assignments / U&d B (SATSTHT)

22) Sternberg’s components of intelligence did not include : / TS & Q@ & geo! § feT znfia
EEKE

1. Analytical intelligence / fazayuna S Tg'@
2. Fluid intelligence / Sd 3REAT % (WIS Sclaoid)
3. Creative intelligence / T Jfe

4. Practical intelligence / WW@@

Correct Answer :-
 Fluid intelligence / % 3RLIT Ca (WS gcferid)

23) How can a teacher practice intrinsic motivation in the classroom? / T e wem o sriafve
TRUT T ST B PRI FHAT 32

1. Set class policies and rules to control the class discipline. / D&l & TR & FEAd HA & fam
He Hifeat sk fFawm Fuffa #vd|

2. Set high goals and make them practice to achieve high grades./ 3= A& fAeuifed o iR 3% I US
TG S & feTT 31 AT

3. Allow students to choose their tasks and work by themselves. / BT DY U HTAT BT T HRA 3R

W HTH TR DI SIA SR

4. Allow students to make choices and hold them accountable for the consequences of their choices. / S

&I T fadhed a9 SR I 3! UXE & URumHl & fTe STaTecg 3@ &1 Safd el

Correct Answer :-

» Allow students to make choices and hold them accountable for the consequences of their choices. / S

DI THEIE] fadmed g 3R I 3! U & TR & oIt STaTaeg 9 &1 S Sae|

24) Through which mental activity is available information transformed to conclusion. / T AR

Tfafafl & Arey ¥ Iuasy SIS B ey § ®iFiaRd fearsmarg |
1. Thinking / ffa

2. Problem solving / GHET HIYT

3. Reasoning / qb

4, Motivation / DU

Correct Answer :-



» Reasoning / LD

25) Which part of the memory is the clothes you wore on your wedding day stored? /wﬁrmaﬁﬂ-m
YT 3TU GRT TS & &7 U5+ T $us 5t Wfa B Juga aear g2

1. Autobiographical memory / 3THBUTHD Ffd
2. Declarative memory / IRl EY F{%
3. Procedural memory / WichadTcd® Wfd

4. Participative memory / ‘Gl's'ﬁ-ﬂ"'ﬁﬂﬁf

Correct Answer :-

» Autobiographical memory / G{WWW@I

26) Which of the following hinders learning the most? / Frafefead 8 & w1 999 it siftrma o
YT ST 82

1. Competition/ ISR
2. Noise/ Qﬁ?
3. Boredom/ BGR:"

4. Fatigue/ YD

Correct Answer :-

e Boredom/ 3¢q <t

27) Which of the following is a secondary sexual characteristic that develops in females during

puberty? / FrafiIfEa & @ F1-0 T Mo 9= fa=ivan 2, <t das & R afgarst § Refia g 32
1. Development of the ovaries / 3SR HT fdbTy

2. Menarche / TSGR

3. Growth of body hair / TR & §Tell &I T+

4. Deepening of voice / 3TATS BT TTERT I

Correct Answer :-
* Growth of body hair /R IR & a1l BT T

28) Which of the following is a parenting style characterized by low warmth and high control? /e

H I DIF-3 gTe-uivor et $ifire IwTs SR Siftres fdaror 33t fa=ivar g2
1. Permissive parenting style / 3{J3ITHD TTeT-TT0T Rt
2. Authoritative parenting style / 3T TTeT-TTooT Qi



3. Authoritarian parenting style / SHfYDHRATE! UTe-aro0T il

4, Aggressive parenting style / STh[HdH UTe-UTyor et

Correct Answer :-

« Authoritarian parenting style / HfYBRAT TTE-are Qe

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply

psychological principles to the area of learning. / dg uRTs TRR-foran ﬁil'F-ﬂ (ﬁiﬁﬁ?ﬁﬁlﬁ') ﬁl’-ﬁe{
Uaa- RABIRINE) F1 SITURTI WRaTfad @1 3R 3 & &7 # gdgi=e Rigial @) ary & ara
U sfad 3

1. Edward Thorndike / UST8 U3
2. Wolfgang Kohler / BT Eﬁ?ﬂ?
3. Jean Piaget / EiEIERIE]

4. lan Pavlov / 33 Uraelid

Correct Answer :-

« Edward Thorndike / TSds YHSSH

30) Which of the following is NOT a form of misconception? / Frafafaa o 3w Tea aron qﬁ%"

1. Non-scientific beliefs / &ailli—'\'leb H=IdTd
2. Cognitive conflicted ideas / SRS TRER faviel faaR
3. Preconceived notions / q\ﬁlfﬂ_eﬁ [CEIN

4, Vernacular misconceptions / HIGHTHT oy §@

Correct Answer :-

« Cognitive conflicted ideas / ITHD TRTAR faRielt faaR

Topic:- General Hindi (L1GH)

1) GIG-JTH HUI I1T A 3T § 9gd & Tt
3¢ 9ardl ¢ T§ AT

FATfi o

Serfeg a8

- AT F U=

YA R

39 oY TE3ETd



B TSH! B gSHART | 3R T BT &

dl TP HUWR FeH

fafeal & srmer Bt € Tumy

- Far A 3 3HP W oft g ot @
QN FX MY

3 gaTd € f e fpa-i W st Y

% f @ g1 81 3 SH@T Yo wial

Iudad eI &1 Ugh A fou 1T vyl & IR Fa1sv :
= Ffear € SRR HRA & TR TR A SRS V< © -
1. fefear

2, DRl

3. =Y

4, 3R

Correct Answer :-

2) JIE-TTH S a1T | 3fTd § 9ga | Jart

3¢ Jardl § U8 AT

fFATH TR

Serfegdaq

-3y GRATSH & U=t

3T FHA H

39 dl qgeTd

BIC TSH| $! YSHART A 3R g BTN g

@ ISP HW TEHY

fafal €t srpar St € =g

- Far A 3 3ub W oft g ot @
QN F MY

q gard! § & rerTa forait ot 9t gt i

T e ot g1 81 © ST e <l

ST UL B UgHe A1 fT 1T weii & ST qa1sy :
T: «I$T T — U= » Uy A 313 A vy u=t SsA P I w1 B2
1. FfSar &t



2. 3{TSITG} Bl
3, S B
4, Tt

Correct Answer :-

3) G- HU T H 3Td § 9gd I At
3 STt ¢ 98 dIg

fFATH TR

Serfarddq

-3y ATt F U=

U FHH |

39 d qgETd

B TSI I YSUIR! A 3R TG BINT &t
I P HW TeHY

fafat & srer Pt § U=y

Ft-H ol Aot # 3 59 iR i gu e §
N B TG

3 gardt § o gy fpaht W st e d

% fa @ g1 81 © SuT Yo 6l

IUYaR YRR $ UgdR -1 fT 7¢ weif & I 9a13¢
UL: g fh R geuart ad 82

1. fUar &t dis R

2. 9= I}

3OS W

4, AU W

Correct Answer :-

. AW

4) gG-ITH S aRTH 3Td § g & Fart
3¢ 9dwdl ¢ 98

fFaAadiowR



ST fer aaq

ared-ared RIS & et

T T

3 dl qgeTd

B ASH! B YSUART A 3R g WIRT 8

@ P HW TeHY

ff¥at &t sraR Pt € =g

FH-Fft At & 3 3P Wew ot g o ¥
QN $ MG

3 gart g fp erarTa fat W st gt o
TS {1 dt g1 81 8 SHeT e dal

ST U B UgR A 3T Y vl & IR 9arse
U= YRgd ST {69 W muta 82

1. 9! @ R R

2. Fafgar &t fRUfd R

3. A &I gaaH RUTT W

4, 9l Bt UMW

Correct Answer :-

. Ui & gdAq R R

5) JIE-IMH S a1 | 3ATd § 9gd I JArt
3¢ 9ardl ¢ ¥g dlv

& A st TR

STz aaq

- AT F U=

U FHH |

39 ) 98veTd

BIC ASP| B! GSHART F 3FR g BTN &

@ P HW TeHY

fafsat € srrar et § mu=mg

Fit-Fft Rarit A 3 59 iR W g T @
QN $X T

3 gaT € fp geera fra- s st Y



@ a7 9 ST 61 8 SHPT1 g Wal

I TSN P Ugp A 3T 7T weil & SR 98¢ :
T: T & SHTY FT T 32

1. W HA a1

A ISCEE CI]

3. 41U & ared

4. GERT e a1

Correct Answer :-

o WFH T

6) JIE-TH S T | 3T § Iga | JAT
3¢ 9ardl g U8 AT

fFATSioR

SeTfegddq

Y-S RIS F

U FHE

39 df eI

B ASH! B! FSHAR & 3R IE BIRA

@ TP FWR FeHR

fRf¥at €t sraR Pt € =g

- Farh A 3 3u> W oft g ot @
QN F T

q gare € f oeerTe fra-it s st @Y

T e ot g1 8 ] Sue ¥ da

ST U= B UgHR -1 fT 1T weii & ST qa1s¢ :
wx: Fafgan &1 gicdT = 32

1. &

2. farst

3. ferel

4, If&an

Correct Answer :-



7) JIE-TTH S a1 & 3fTa § 984 | Jart
3 qandl § Ig g

EX:ECIRNCH

Serfegddq

-3y JRATSH F U=

U THE

39 d qgETd

B TSH| P! YSHAR! A 3R T§ BIRT
1 P FW TeHY

fafeal & srmer Bt § Tumy

- H W A A 3 39 iR W g ot
TR B T

q gaTd! § & e fraeit Wt st gt

T fa @ g1 81 © SuT Yo 9l

ITaR U=IIRI $ Ugdr -1 fu 7T weif & IR FaisC
WR: TERETA BT ST 39 U § a1 32

1. 379 I PIS Tal

2. S-S

3. SN @I ol

4. S it g

Correct Answer :-

. SfiE

8) Ja§-MT HUt a1 H 3T § g o A
3¢ 9ardl ¢ ¥§ AT

EX:ESIRNCH

Seifegddq

- Tl F U=

T T A

39 d qgeTd

BIC TSH| P! GSHART F 3FR g BTN &
@ ISP HW TeHY

fRfEat &t sraR St € Tu=rg



FR-Fl Harh F 3 56D e f g@ I @

R B A

3 gard! § % gsrTa fea-it Mt st v aiu

& A A e &1 8 ST e e

IUR U= $ Ugdr -1 fu 7T weif & Iwv Fa13¢

W Ugd Hiaa1 A g 3R TH B S 917 & B 34141 82
1. fofgar

2. TSP

3. I

4, QT

Correct Answer :-

9) JE-JMH HUt a7 & 311 & 9gd | Aart

S STt ¢ 98 a1g

EX:ECIECH

Serfarddq

-3y JRATSHt F U=

U FHH A

39 d qgETd

B TSI I YSHAR! A 3R Ig BINT &t

I IS HW TeHY

fafar & srper Felt § U=y

FHt-Faft Aot A 3 39 iR i g o §

T TR MY

q gardt § {6 rorTa fart +ft adt gt i

& G A 11 61 8 SHST e

IUYa YRR $ Ugdhr A1 fU 7T weif & IR 9a13¢
U Ta9 B 19 3t 1A W 86 F DI SHdR] Rl 82

1. 9¢

2. G

3. BIC d8h
4. fafear



Correct Answer :-

. B TSH

10) GIG-XTH HU-I 91T H 31Tl & 95 A et
37 qaw ¢ 98 aY

EX:ECIRNCH

Seifegddq

-3 AT F Ut

3T T A

39 d qgeTd

B dSH! B YSUART A 3AR g WIRT 8

@ IS HW TeHY

fRf¥at &t srpaR Pt € Tu=rg

FHM-Fft At F 3 3P WNew o g o ¥
QN $ MY

3 gara € f e fpa- W st Y i

T & it g1 61 8 SueT g gl

ST ULII=T B YgHR -1 T 1Y 94l & SR 9a1s¢ :
W= AT gt T e A 32

1. SR UM &Y

2. XS B

3. AHdaR 91 H W& 1 I §

4. JG PR P

Correct Answer :-

o dThddR S RCEe ﬁﬁldl %

11) IG-XMH HU- I0T A 31Tl & 95 A et
3 9awd ¢ 98 dY

EX:ECIRNCH

Serfegadq

-3y GRATSHT & U=t

3T FHH &

A e



B ASH! P! TSHART |V 3R TG BIRIT g1
dl TP HUWR FeH

fRf$at & srper weedt € =

- Aarl A 3 3P R ot g ot @
T F MY

q gardt & fp geaera fpa W s v

% f @ g1 81 3 SuT Yo gl

Iudad eI &1 Ugh? 1 fou 7T vyl & IR Fa1sU
U: TSP eg AT A RTE?

1. Yhaa

2. fga=m

3. S A Bl A

4, S§gao

Correct Answer :-

12) GEE-TH HU- a1 H 3Td § 959 S Aarit

3 qandl § gg v

EX:ECIECH

Serferddq

Y-S RIS & et

U THE

39 d g

B ASH! B! FSHAR | 3R T BIRIT &

@ SHP HW TeHY

fafeal & srmar Bt § Tumy

F-Ff Aarit A 3 39F iR W g T @
TR R TR

3 gardt § i eRera fpa it gt @1 aw

T f @ g1 81 3 SuPT Yo

SIS U= B Ughe -1 fIT 71T weii & SwR qarsu :
WY: AT & TTeTH A AW 6 WA AT ATear 22
1. Il 3R YT & A B IR NG safad Bl




2. SR S B
3, <l B
4. IR 3R g fad B

Correct Answer :-

. Il 3R Jhedl & Hg H IR =il SAfad o

13) # 9gd SI¢1 At 5 A Rt <0t 2 st sareht § % 98 g3 STwvsor sgiiRiarg yrlt & a8 arera
T A7 3T Uge HeH SIHRT H 8 g AT 3R 3@ WY I 79 7 uiE § | 9 # $© 99 9% $ Ied
R TR 39 PR F T ITU ST AT | AT AT SR ST G WA, AT A5 YT B Io7E W IS Vg 2,
TR H 3ER BT SiaT QA TdT 71 W WY g8 e & Ford el § 3R H g @ ot §1 AR R 98 R e
AT USY § 1 = § A U3 Th-TH $Ud & Ryad foraa 98 4, W1 3@ @) 3 B 81 1T § 1 IR gIfe uTq & SRur
a3 9o # feadpd gidl & 3R A R 3@ - T o1 U2 ¢ &1 fPa $© ge & gv-gvR! Rigtht g & &ror
[RiRUEARLCRER]

ST TR B UgdhR 1 3T 1T w4l & IR 9a1su :
H: AT 3t mft A9 A & 9aa wel url <&t
1. SRIIRTETE

2. TRTEE

3. TESEITG

4, TRIETSTE

Correct Answer :-

. SENHIRETG

14) ¥ 95 B¢ A 5 A9 =t <0t B sraft garch § % 98 43 STrser weiiRmarg urft B 98 aeera
H #7 3UT UgelT HoH AR § € gerar UT1 3R 3@ ot A Iud w9 78 urE § | I § oo 9Ha 9% $o Ted
f 73 3« bR TS O AU 311 AT 8 | AR AT SR AT G STt ¢, AR AT Pord B qorg A 997 @l
T ¥ SR Y 3fa G Joar 31 A Wi g8 e A pad et § ok & g @ &t § 1 AR R 9 W -
e U &1 T A A U Th-Toh 370 F R Rra 78 A, W 3@ oY A B 81 ¢ &1 W 2rfen ufa & Sror
T3 9o ¥ Reawa gt @ 3l N R 3@ - A o1t v gU 7 | framn 7o gan @ gd-gurd) Rigwh i & sror
gaun & g aqa g B

ST TR B UgwhR -4 faw 7T usi & IR 9a13¢ :
T: AT & IR IR AT 3?2

1. 3T A BIS TE¥

2, AT Ysdl

3. i Ysdl

4. UIdl yssl

Correct Answer :-

. 9 Y



15) ¥ 9gd B &t o A Rt oty A el wareht € & 95 9 SR wgiiRrarg urft 91 A8 argem=a
T A 39T Ugen HeH TR A € ggra Al 3R 3@ Y & 39 9 78 urg | i ¥ $° 99y 9% 5O Wed
R T3 3@ bz WE o AT 3 AT B 1 AR A SR ST G SR ¢, AR AT oI B qore A 991 @l €,
T 3R B 3R A Ted 81 A WE g8 e & fa @t € 3R H g @ ot §1 N QR 967 W A1
AT UsY 81 F= H A Uy Th-UP ¥Ud & e foraa 98 9, WR 3@ @Y A B 81 U €1 &R gIfg) uTa & SrRur
S 9o ¥ feawd gidt @ o MY R 3@ — 3 o1 v gu &1 fba oo gan € gi-gwrd) Rigth g & &rur
T & fQ aqa 1 B

SUY e TR P UG A1 f3T 7T usii & IR 9a13¢ :
TR G P Iaard 781 82

1. &

2. 3R

3. Xqd

4. °§

Correct Answer :-

16) # 9gd BI¢1 At 5 A Rt <01 B st gareht § % a8 g3 STrsor weiiRmae urht &1 a8 aeera
T A9 3T Uge Hed SIHRT H 8 g 4Tl 3R 3@ WY # I 79 7 urE § | 9 # $© q9y 9% $ Ied
A R o R T T© T 341 T4 §1 A7 I 3R ST G AR §, AT AV Yo B} 78 | TST VA,
T ¥ 3R Y 3ie A IgaT 31 A Wi g8 avE A e el § ok A g @ &t § 1 AR QY 9 W -
T 4SS B 1 I W ¥ U Uh-US $Ud & e foraq 98 9, W 3@ a1 T i 81 Y &1 W g1fg uld & SR
T g ¥ fagra gl @ ot T IR 3@ - A B1a uS g 7| fpa- 3o gan § gi-zur) Right 19 & srur
g & R aqa T B

IUYaR TR B UG A1 3T 718 gt & SR 9a13¢
U dfaeT ot el foad $rRu gAzwn & fie sea 182
1. 19 & BRI

2. HUIYU & HRUT
3. 3 34T & HRUT

4, fAH AT & BRI

Correct Answer :-

. TS BRI

17) ¥ 9gd B¢t 0 5ia 79 A=A <t B eruft gardh € 7% 98 g3 SpsHr weiiRmEe Uil B A8 aeera
T A9 3T Uge HeH SHRT H g ATl 3R 3@ W F I 79 7 urS § | 9 ° 55 qW9 9% $ Ied
f 13 3« fhT T O AT 31 AT 8 1 AR AT SR ST G STt 8, AR AT Ford B qorg A 997 @l €,
TR H e BT SiaT G TedT o1 A A g8 TWe A o Al § 3R H 1w @ ot §1 A R 987 W e
e ¥ B 1 o § A U U-U9 IUd P e e 78 4, WR 3@ ot A B 81 1Y &1 WX S1feA uia & ST
a3 9o # fegwd gidl & 3R W W 3@ - T o1 U2 g &1 fa1 $© ger & gv-gvr) Right g & &ror
T & g sga T8 31



ST T B UGHR -1 faT 7T i & IR 9a1s¢:
T: 3R BT 3aX G 951 82

1. 916 9

2. HH Y

3.7 9

4. 989

Correct Answer :-

. TAY

18) ¥ 9gd oIt it wia 7 =AY <1 B erwft gardht § 7% a5 g2 STwsHr SeriRmEE urh B A8 aeera
T A9 3T Uge e SIHRT H 8 g ATl 3R 3@ WY A I 79 7 urE § | 9 ¥ $© qWy 9% $ Ied
A R o R T T T 341 T4 B 1 AT T IR ST G TR §, AT AV YA B} I8 | TST VA,
T ¥ 3R Y Sia A Igat 31 A Wi g avE A e @l § o & g @ &t § 1 A Q¥ 9 W -
a4 B 1 I W A U Uh-US $Ud & e foraq 98 9, W 3@ a1 3 B 81 Y 81 W g1fg uld & SR
T g ¥ fagrd gt @ ok I R 3@ - A B1a v g 7| fra=n 3o gan 8§ gi-zurdt Right 19 & srur
[RiEUEARILCRERS

ST TR B UgdhR ) 3T 1T w4l & IR 9a1su :
U: 98 W USH ardl 4sd U e A2

1. FTH AP el

2. T 09 & 49 & o

3. U% 00 & g ol

4. T O & ¥y o

Correct Answer :-

. T YU & Riygh o

19) # 9gd BI¢! At 5 A Y <1 B srft gareht § % a8 g3 STpsor weiiRmar urft B 98 aeera
H #7 SUT UgelT HoH AR § € gerar Un1 3R 3@ ot A 39 w9 7 urE § | I § oo 9Ha 9% o Wed
A W 3 {3 79 T aru 31 71 1 W7 T SR 3HRE T STl ¢, ART ASRT Yold Y qorg | I97 I8l 3,
T ¥ SR Y 3faR G g1 31 A Wi g e A Ear et § ok & g @ &t § 1 AR Q¥ 9 W -
AT UsY 81 JR= H A Uy Th-UP ¥Ud & Ryad foraa 98 9, wR 3 @Y A B 81 U 81 &R gIfg) uTa & srRur
S 9o ¥ feawd gidt @ ok Y W 3@ — A o1 1@ gU B | fba oo gan € gi-gwr) Rigth g & arur
T & fg e g 31

U TR P Ugahe A1 fAT 7T usi & IR 9a13¢ :
WH: FI9° BT Giaardt WTeg T 32

1. 4

2. I

3.9



4. R0

Correct Answer :-

20) ¥ 9gd B¢t 0t 5 A et ot A6 srwft garht § 7 a5 43 STwes: weriiErg yrh 6t 38 aregRa
H #7 3UTT UgelT HeH AR § € gerar UT1 3R 3@ ot A 39 w9 9 urE § | I § oo 9Ha 9% $© Ued
R W 3@ Y 79 T aru 31 741 31 W7 T SR 3G GoT ST 8, ART AR YoId Y qoig | I9T 384T o,
T ¥ SR Y Sfa G ol 31 A Wi g TvE A far et § ok & g @ &t § 1 AR Q¥ 9 W -
e ¥ B 1 = § A U U-U IUd P e e 78 4, WR 3@ ot A B 81 Y &1 WX S1feA uia &b SRur
T ge | fggmd giedt § 3R W W 3@ - A BTl U §¢ 7 | fra oo gon 3 gH-guRt Righ 79 & Fror
T & fg sga T8 31

SUE TR B Ugwhr - faw 7T ueii & IR 93¢ :
U T &1 3 FT d?

1. g

2. e

3. 9T

4, olq

Correct Answer :-

21) ¥ 9gd oIt 0t 7@ 79 ¥t o0t A ol gareht § 16 a5 gt TwsHr weriiRmEg yrh A4t & aregRa
T A9 3T Uge e SIHRT # 8 g ATl 3R 3@ W & I 79 7 S § | 9 $© Iy 9% $ Ied
At WY o R T T ATUH 341 T4 71 AT T 3R ST G AT §, AT AN Yo B} I8 | TST VA 3,
T ¥ 3R Y Sia W Igal 31 A Wi g avE A e @l § ok & g @t &t § 1 R Q¥ 9 W -
AT UY §1 = § A YUY TH-UH $Ud & Ryad foraa 98 4, WR 3@ @) A Bl 81 1T 81 WX gIfe uTq & SR
T g A fagra gl 8 ok W IR 3T - A B1a S g 7| fra- oo gon § gi-zurd) Right 1 & srur
g & R aqa g B

ST TR P UgH 4 fU 7T usl & IR 943U :
A Ryger o1 aaETS e F B2

1. 3{dh]

2. e

3. ddh]

4, Y1d Hal

Correct Answer :-



# 9gd oI 4 5 7 ¥t 4t 1 A9 ot 9ardt 8 {6 98 g3t Shs®r el iRTarg WRft O | 29 argeea | #§7

ST UEell HeH aTaRt § 8 gern Tl iR s N A ST su T U {1 S & 30 Ina 9% g9 Mead AW

S PR T T AT 31 7T | TR e 3R 3iRE G Sl B, TRT =AeRT Yord &1 T & I97 @l o, Tt 4

3feX Y Sfg¥ G Tgar 31 W WY g a¥e § T el § ofR A g @ e 1 Y R 967 W Are-ane ¥y

I A T Y Uh-UP T & Ryad fora- 98 A, WR 3@ 1 A B 81 Y &1 | g1+ uld & SR g3l Ia

gmﬁm:;?g%aﬁ?ﬁ%ﬁ?%@—ﬁmﬁu%@?l a1 oo gan @ gd vl Righ A S sRU gA &
dad |

ST eI P UgH 4 fu T usl & S<R Ia13¢ :
UH: 9% g1 oiq uel ot dt af@en?

1. 9gd St &l

2. 9gd Bict ot

3. faqr a4t

4. R B TS A

Correct Answer :-

. Sgasic

23) # gga oIt 0t 5ia A9 Rft <t 28 st qardt € 7% 98 g3 TwsH: weiiRiae urh B 748 arggra
T A 39T Ug el HoH TR A € ggr ATl 3T 3@ W & 39 9 78 urE § | v A $° IHY 9% $O Wed
R 73 3« bR T F© AT 31 AT B | AR I SR ST G STt ¢, AR AT Yor B qorg A 7 W@
T ¥ 3R Y Sia QA ol 31 A Wi g avE A pad et § o & g @ &t § 1 AR QR 9 W -
e U B 1 o § A U UP-U IUd P Ry oraq 78 A, IR 3@ ot A B 81 Y &1 WX S1feA uia &b SRuT
qS geq | fdgpd gidl ¢ 3R MY IR 3@ — A B1al U g¢ ¥ | a1 o gar ¢ gi-gvR} Righ 19 & srur
A & fY sga T8 31

ST TR B Ughe A1 f3T 7T yeii & IR 9a13¢ :
U W T yatgard! 981 82

1.Uq

2. TRUT

3. U7

4, UM

Correct Answer :-

24) ¥ 9gd o1t 0t 7@ 79 ¥t o0t A6 ol gardt § 76 a5 gt Twssr weniiRmErg yrh A4t &8 aregRa
T A9 3T Uge e SIHRT H 8 g ATl 3R 3@ WY & I 79 7L uiE § | 9 # $© qHY 9% $ Ied
f UX 3@ P W $o© 1T 311 T 31 AR I SR I G S 3, AR A Yo B qoI8 | qST 81 €,
T 3ER BT SiaT G TaT 7| A A1 g8 e & o el § 3R H g @ ot §1 AR @R 987 W Are-
a4 B 1 I W ¥ U Uh-US $Ud & e Rraq 98 9, W 3@ a1 U B 81 Y 81 W g1fg uld & SR
T g ¥ fagera gt @ ok W IR 3T - A B1a S g 7| fra- 3o gan § gi-gurd) Right 19 & srur
g & R aqa T B

ST TR B USHR A T T uyi & IR 9a1su



et AT & Sitaw ) yoaa g8
1. GYRA I b Y

2. SR & 1Y

3. 3fHa & Y

4, R & A1y

Correct Answer :-

. SERIE Y

25) ¥ 9gd oiet 0t 99 T =it B 35 st sardt § i 95 g9 Tosax weriRErg urt A | A3 age=a
T A9 3T Uge HeH SIHRT H 8 gerr ATl 3R 3@ WY I 79 7L uiE § | 9 # $© qHY 9% $ Ied
At WY o R T T ITTH 341 T4 B1 A7 T IR T G SR §, AT AR Yo B} I8 | TST VA 3,
T e BT SiaT QA TgaT 71 W A1 g I & o el § 3R H g1 @ ot §1 AR @R 987 R Ara-
T U B 1 I W A U Uh-UD $Ud & e foraq 98 9, W 3@ a1 A i 81 Y & 1 W g1fg uld & SR
T g ¥ fagra gt @ ok W R 3@ - A B1a v g 7| fraw 3o gan 8§ gi-zur) Right 79 & srur
[RiRUEARILCRERS

IuYed TR B UG 14 feT ¢ usl & IR 9418
WH: 99 B g1 A ARADT B 511 552

1. Had HHRIB

2. Had UTRaRe

3. Had ARIND

4, S guft

Correct Answer :-

o SWRIad gt

26) CANCELLED

YEE-TH S arT & 31a & 9ga @ Jardt
3¢ 9ardl ¢ ¥§ AT

fFATfiow

Serfarddq

-3y JRATSH F U=

U FHH |

39 A ggeTd

B TS| B gSHAR! A R Ig IR &1
@ SHP HW TeHY

fafeat & sreeR Fedt § U=y



w1l Aart 7 3 59 MR Mg ot &
QN R TRG

3 gardht § f grorma fra W st gt g

& A A e 1 8 ST g e

SUad U=IiR ®1 g -1 f3u 1T wsl F IwR Fa13¢
WH: qerAT | Y T 6 81 TS 82

1. ST O]

2. T I 9]

3. T B %]

4. TR T

Correct Answer :-

27) # 9ga oIt f w9 A Rt f1 A6 sl gardt & 7% 98 92 THsHe weiiimEe unf & 3§
ATEared § A9 SIUHT Uge FeH AR F € ger 4Tl SR oF W & SuY 99 9 Ui ¥ 9 § oo 99y
TP $© Wed N W 3@ f5x 7a o 10w 311 41 71 F7 77e SR ST Yo St &, AT A0 Yoid Bi au’e
Y TST /AT 8, TA A 3 &1 3R A gar 31 A I g8 TRe A o et & SR A g @ I3 g1 N
RIGTRATT-TA YR FTE R YR TH-TH I & g e T8, WAg A A SR T LI W
2R uid & R g g F faawmd gl 8 ik A I 3@ — A BT U g¢ &1 fpa1 o gan € gd-
AR Righ 1 & SR g8=n & e 5@ 713 21

ST TR B UgHR - AT MY Usii & IR Farsu:
UL: Uegd T e ge W emeutia @ 2

1. 9 T

2. T U],

3. HEMRI

4, U2 &1 SR

Correct Answer :-

o T I

28) ¥ ggd Bidt N wia A9 et <ft1 A8 st gardt § 7 a5 g TpsHe STeriREK yrlt 51 a8

e ® A 3UAT Ugdr HoH THRT & € Ferr ur| 3R 39 ot & 39 v A urs § | fu N o 9wy
TP $o Ted A W 3T fh 9 $o aTu 31 47 81 A T 3R ST Yot orelt 3, AR A Ford Y aoig
Y TSI IFAT B, TA A SieR g X G gga1 31 B Ii% g8 TRe A e el § IR A @ SR g1 W
T 98 TR AT0-0T6 ¥ ¥ 1 TR A A 4 Uh-Us ¥ & Rad R a2 &, W@ AR A T g1 ;N
SIfe ufa & SR g3 9o | Rawd gidl 8 8k A W 3@ — A B1ad U §¢ 81 a1 o gon @ gu-
gAY Righ 1 & SR gA=m & e sga 718 21

Iudad TN B UeHR A 3T e vyl & IWR Fase



= ‘gife &1 faei T ghm?
1. A
2. HW
3. 91
4, -

Correct Answer :-

29) JE-JMH S T H AT § 9gd & A
3¢ 9awdl § T 1T

& A st w®

Se1 feg 4 @4

-3y GIATSH &b o=t

3T A

39 df g

BIC ASHI Bt gSHIAR! | 3R g BTN &
@ IS FW TeHR

fafsat § srpeR Pt § TRy

Fft-waft Aarit & 3 59 faw N g ot &
TN B TG

J gardt ¢ f e fea-t of 9t g1 dig
T fo @ g1 81 @ ST Yo ¥l

ITY U= H1 UgdR -1 3T 7T gt & IR Fasu
U Ugd Hiaal 8 T wIa &1 b gan 82
1. SfAdIENT

2. JHSTT

3. GRI &M

4, HUT I

Correct Answer :-

o DU IR

30) JaE-XMMH S IFT A 31 € 9gd & e



3¢ andl § I g

& # gt s

Se1feg A @

-3 AT &b o=t

U FHH

3T oY TgTeTd

BIC ASHI B! gSHIAR! | 3R g BTN &

@ ITP FW TeHR

ffEat €t srpeR Hedt € Towy

Ff-wft Aart 7 I 39F fiaR o g9 et @
QN B TG

3 gard! § fr Sera frat W st 8 v

T fo @ g1 81 @ SHeT Yo §al

IuYad U=IIRT B Ugh? 19 AT 1T Y & 3R Sa1su
: ST T & A ored-3red RISl & U= | Ui IS YaTax &1 A4 /T 72
1. Hooll €& Ol

2. A T8 B Al

3. AR 3
4, YIS AT

Correct Answer :-

o« AT B Gl

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

A cremator-- is the place where corpses are burnt.

4, --ation

Correct Answer :-

e —jum



2) Fillin the blank with the correct option in the given sentence:

A --print on a currency note could be seriously dealt with.
1. im--

2. mis--

3. blue--

4. re--

Correct Answer :-

e Mmis--

3) Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

What is the transition that the poet mentions in the poem?

1. The transition that happens from one day to the next
2. The transition from day to noon
3. The transition of reading books to talking over phones

4. The transition in human beings

Correct Answer :-

e The transition that happens from one day to the next

4) Read the poem carefully and answer the question given below:



THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

The suitable title for the poem is:
1. A clear midnight

2. A book

3. The day

4. The lesson

Correct Answer :-

¢ A clear midnight

5) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves,
responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home'.
Independence and individuality both need to be respected, in order to maintain the sanctity of
family.

What should be respected in order to maintain the sanctity of the family?
1. Splurging pocket money

2. Overnight parties

3. Extravagance

4. Independence and individuality

Correct Answer :-

» Independence and individuality

6) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much



independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves,
responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home'.
Independence and individuality both need to be respected, in order to maintain the sanctity of
family.

According to the passage, what begins at home?
1. Learning moral values

2. Respect

3. Happiness

4, Charity

Correct Answer :-

e Charity

7) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves,
responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home'.
Independence and individuality both need to be respected, in order to maintain the sanctity of
family.

According to the author, who is responsible for the troubles that emerge in families?
1. Parents

2. Children

3. Society

4, Relatives

Correct Answer :-

e Parents

8) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves,
responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home'.



Independence and individuality both need to be respected, in order to maintain the sanctity of
family.

In the passage, what are the basic needs for a growing youth?
1. Moral values

2. Respect and individuality

3. Family, love, attention, bonding and also moral values

4. Family, love, attention

Correct Answer :-

« Family, love, attention, bonding and also moral values

9) Choose the appropriate tenses to fill in the blanks in the given sentence:

‘Where___ Manu?’' He a shower.
1. has been, was taking

2. was, has been having

3. have been, has

4. is, is having

Correct Answer :-

* s, is having

10) Fill in the blank with the correct option in the given sentence:

The workers were so skilled that their ______ was quite visible even to a layman.
1. affiance

2. efficient

3. efficiently

4, efficiency

Correct Answer :-
» efficiency
11) Fill in the blanks with the appropriate conjunction.

the bride the groom looked unhappy.



1. Either, nor
2. Either, for
3. Both, and

4. Both, or

Correct Answer :-
e Both, and

12) Which of the following options best combines the following sentences?
He stayed at home. He was ill.

1. Staying at home he wasiill.

2. On account of his illness, so he stayed at home.

3. He stayed at home so he wasiill.

4. He stayed at home because he was ill.

Correct Answer :-

» He stayed at home because he was ill.

13) Choose appropriate articles for the given sentence:

German is ____ easy language to learn for English speaking students.
1. No article required, no article required
2. No article required, an
3. A, no article required

4. The, no article required

Correct Answer :-
» No article required, an

14) Choose the appropriate option that rewrites the given sentence in its passive voice.
You might catch a glimpse of the magnificent tree in full bloom.

1. Glimpses of the magnificent tree in full bloom might be caught by you.

2. The magnificent trees might be caught by you in full bloom.

3. The magnificent tree in full bloom may be caught by you.

4. A glimpse of the magnificent tree in full bloom might be caught (by you).



Correct Answer :-

* A glimpse of the magnificent tree in full bloom might be caught (by you).

15) Choose the appropriate antonym for the highlighted word in the given sentence.

She pointed out the salient features of the building.

1. Inconspicuous
2. Impressive
3. Prominent

4. Significant

Correct Answer :-

e |nconspicuous

16) Choose the appropriate pronouns for the given sentence:

Raj is so upright that never does anything that will harm well being.

1. he, his
2. he, mine
3. himself, him

4, she, hers

Correct Answer :-
¢ he, his

17) Choose the appropriate synonym for the highlighted word in the given sentence.

Tactless comments cause offence, especially to sensitive people.

1. provocation
2. misdemeanour
3. misery

4, violation

Correct Answer :-

¢ misdemeanour



18) Choose the appropriate prepositions for the given sentence:

Sweep the bread crumbs the table laying the table.

1, off, before
2. under, after
3. across, with

4. from, by

Correct Answer :-

» off, before

19) Choose an appropriate modal for the given sentence:

According to the school policy, students wear their identity cards during the school
hours.

1. could
2. must
3. might

4, can

Correct Answer :-

20) Choose the option that best explains the highlighted expression:

Some of his jokes were a little off-colour and I don't think my grandparents particularly
appreciated them.

1. stale and oft-repeated
2. highly intellectual
3. offensive

4, dim witted

Correct Answer :-

« offensive

21) Choose the option that best transforms the sentence into its Indirect form:



Notice on board: The final examination for all courses will commence from 20th August 2010.

1. The information on the notice board has been written that the final examination for all courses will be
commenced from 20th August 2010.

2. The information on the notice board specifies that the final examination for all courses will commence
from 20th August 2010.

3. The information on the notice board is reporting that the final examination for all courses would
commence from 20th August 2010.

4. The informations on the notice board told that the final examination for all courses is from 20th August
2010.

Correct Answer :-

« The information on the notice board specifies that the final examination for all courses will commence
from 20th August 2010.

22) Choose the option that substitutes the given phrase appropriately.

A sleeping room with a number of beds, especially in a school or other institutions
1. Hostel

2. Rest house

3. Convent

4. Dormitory

Correct Answer :-
* Dormitory

23) Read the sentence carefully and choose the option that has an error in it:

The Opera, even though performed by amateurs, it was excellent.
1. The Opera,

2. it was excellent.

3. amateurs,

4, even though performed by

Correct Answer :-

e it was excellent.

24) Read the sentence carefully and choose the option that has an error in it:



Her house is not big enough as to accommodate more than ten persons comfortably.
1. as to accommodate

2. Her house is not big enough

3. more than ten persons comfortably.

4. No error

Correct Answer :-

e asto accommodate

25)
Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

Find the synonym for the word, “ponder”?

1. Contemplate
2. Disregard
3. Reject

4, Ignore

Correct Answer :-

o Contemplate

26)
Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,



Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

What is the literary device runs throughout the poem?

1. Satire
2. Metaphor
3. Alliteration

4. Irony

Correct Answer :-

» Metaphor

27) Fill in the blanks with the most appropriate preposition in the given sentence.
The class begins 7:30 am ____ the morning.

1. on, for

2. from, in

3. at, in

4. by, during

Correct Answer :-

28) Choose the right tag:

He had lived in London for ten years, ?
1. isn't he

2. did he

3. hadn't he

4, hasn't he

Correct Answer :-

¢ hadn't he



29) Choose the most appropriate determiner in the given sentence.

student in the class is eager to take responsibility.

1. Most
2. No
3. All

4, Either

Correct Answer :-

« No

30) Change the reported question into direct speech.
She asked me if I was sleepy.

1. She asked, “if I was sleepy?”

2. She asked if i am sleepy.

3. She said, are you sleepy?

4. She said, “Are you sleepy?”

Correct Answer :-

e She said, “Are you sleepy?”

Topic:- Social Science (SSC)

1) FERA stands for WA 2l EUTW 2l

1. Fraud Enforcement and Regulation Act / RIS TacH 3R fafam siffam

2. Food and Environment Research Administration / GTel 3R GHTaRol ST TR
3. Federal Emergency Relief Agency / Tevd SHROIN Reft Tordt

4. Foreign Exchange Regulation Act / faqef Hal fafrgem sifafAam

Correct Answer :-

« Foreign Exchange Regulation Act / faa=i gar fafaa= sifafaamy

2) “Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts
miscellaneous and unrelated information”, was said by:-



/ "sfagm, e, ArRe R iR srfiRe onfg @Y srenT-sren fawdl & wu # e daa Ay ik
IRTSTRT ST We™ Far 87, | SR BT T A -

1. Secondary Education Commission / AT&He fR1&m START
2. NCF 2005 / TTHTW 2005

3. NPE 1986 / TTUTS 1986

4. Kothari Commission / ISR SRINT

Correct Answer :-

e Secondary Education Commission / aTeaiies R ST

3) A set of interrelated statements elaborating a learning material being taught is known as the
skill of:

/ TeTd! S arelt fRigror Il #1 fawga #% 381 TR Hdfta Ful @1 v Qe A 1 SIve deard 8
1. Explaining / UfUTG o1 SURAT BT

2. Demonstrating / UeRH & &I
3. Questioning / YT B BT

4, Lecturing / SRS

Correct Answer :-
« Explaining / UfquTG a1 SRS HRAT
4) Which following is the correct statement? / frafefed & @ o9 91y Hﬁ %?

i. Akbar founded his own religion known as ‘Din-i-ilahi’. / 3[®dY 3 “éﬁ-t{-%?l‘lﬁ" P ATH I 3gAT o
f1fte o)

ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / 3{®aR Faq 1576 #
T & g A M0 UATY Hi T

iii. Tansen was the greatest musician of Akbar’s court. / I FHIR P XER & JaQ HH
Tiftaer A1

1. i only / Had ii

2.ionly /PHad i

3. All are correct. / G4 TE1 B |
4. iii only / had ii

Correct Answer :-

e All are correct. /Hﬂ-ﬁ“ﬂ?{%l

5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?



| B 1 AT, A, HraaRier & dae &2
1. Ashoka / 3{=1d

2. Chandragupta IT / 7w I1

3. Harsha / 89

4. Samudragupta / &I

Correct Answer :-

e Harsha/ E:’Gf

6) Which Article of the Constitution states that, “"The state shall take steps to organize village
panchayats and endow them with such powers and authority as may be necessary to enable
them to function as units of self-government”? /

T F fpa e & w1 a1 § fF, “IIsu U el @) SIafRid $39 $ R $eH Io1d 3R 37
R T SR SfUPR U B Wil 38 TR B P15l & U § ST $I4 A J&H 91 & o
3TaLg® gi"?

1.42

2. 38

3.32

4. 40

Correct Answer :-

« 40

7) Which one is the text not written by Abul Fazl? / 98 &1 9T 3 8 Sl 3G Bold o Ha! forar 8?2
1. Akbar Nama / 3feh &R =HT

2. Ruqaat / ®hId

3. Tabagat-i-Akbari / GSHTd-T-3HaR]

4, Insha-i-Abu’l Fazl / $1-T-3{ql Bold

Correct Answer :-
« Tabaqat-i-Akbari / TGHTd-T-3fhaR]

8) Which among the following is the correct location of the Tropical Forest Research Institute
(TFRI)? /

fFrafafad o ¥ o9 a1 Swisfedta a7 UL YRITT (TFRI) T T RITH 8?2
1. Bhopal / HiuTd



2. Jodhpur / SYYR
3. Jabalpur / SIdclqR
4, Dehradun / <83 g

Correct Answer :-

« Jabalpur / SSYR

9) Match the following Neolithic site:

1. Daojali Hading | A. Baluchistan

2. Mundigak B._Bihar

3. Rana Ghundai | C. North kachhar hills Assam
4. Chirand D. Afghanistan

| FFafeif@a Faammer T9@r &1 Fera &L

1. Gl §fSer | A Fefaedr

2. HIWETH B. fasr

3. 0T g55 C. 3ok HON Ugiisal
HEH

4. g D. 3w el

1. 1-B,2-C,3-D 4-A
2. 1-B,2-A,3-C.4-D
3. 1-A,2-D,3-C/4-B
4. 1-C,2-D,3-A,4-B
Correct Answer :-

« 1-C2-D,3-A4-B

10) Which of the following country is not considered a rigid constitution? /
FrafafEa & A 59 33 3 e HoR ARy 78w wmar 32

1. Australia / 3iicfern

2. Britain / fee

3. Switzerland / f&eoRds

4. USA / 3R

Correct Answer :-

« Britain / fseq



11) The most staggering problem in our educational system on an all India basis is: /
FAUf YRA & STYR TR gHRY R yomrelt & o aif¥res =it 39 arell gon 2

1. Lack of funds / g &1 HHt

2. Lack of schools / ¥l &1 B!

3. Drop outs / $17 313¢

4. Stagnation / 3HHUT

Correct Answer :-
+ Drop outs / ST 313¢

12) The study of the origin and development of human being and their culture is known as:

/ TS &) Il 3R faepr iR S99 "pfa & srema ot $ET ST gl

1. Archaeology / YRIdd

2. Sociology / HHISIRIRA

3. Anthropology / ATFaRIR T A
4. History / ST

Correct Answer :-

« Anthropology / AT-aRIRd AT a3

13) The main purpose of criterion-reference evaluation is: / AF¢S-IgY eIid T 4T SET

I
1. Determination of ranking of the student / ©TA & HHAD o1 Ay

2. Assessment based on predetermined objectives / Uﬁﬁ‘d XA 3e=41 o YR WR HTHad
3. Assessment of attainment of group performance / JHg UG P! WG BT ST

4. Assessment of the skill performance of an individual / Hfad & BRI UG BT T

Correct Answer :-

« Assessment based on predetermined objectives / Uﬁﬁﬂ YA 3e=41 o SMYR R HTHa

14) Classical pattern of education is called ./ fR1e & ISPy Ue &) Del SITdT
e

1. Trivium / Sifdaq

2. Rhetoric / ?I'I'%WW



3. Quadrivium / HA-AJCT

oS

4, Dialetic / SgIHD THUG!

Correct Answer :-

« Trivium / ¢Ifdgq

15) Who among the following is the author of ‘Politics’? / fFafafaa A P “uifafes” &
dED §?

1. Rousseau / =4
2. Plato / el
3. Aristotle / 3IR¥J

4, Socrates / HhIId
Correct Answer :-

« Aristotle / 3R¥{

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
oA 3R Freger gema gifia #3989 URd & g1l YR = 1 & 1T S =1 S1an 32

1. N. Gopalaswami / T. TiuTereard!

2. T. N. Seshan / €. T. ”51

3. S.Y. Quraishi / 4. . gv_}‘\’ﬁ

4. M. S. Gill / . T8. firet

Correct Answer :-

« T.N. Seshan /. 7. v

17) According to Seligman ‘Geography’ is included in: / IferAT & SAR 'Qfﬂ?r' e
BT %:

1. Semi social science / 3¢ TR ﬁ?ﬂ:l
2. Social studies / TG 3eqT
3. Pure social science / & GHTTh fa3H

4, Science with social implication / T dred g 19301

Correct Answer :-



« Science with social implication / ST Ay gad fag

18) The social and co-operative expression of thoughts and ideas in the class, which is
concerned as a miniature society and shared environment, this method is known as:

/ e B faaRY 3R =l 5t wrnfore iR eeRt sifirerfa, Wit ue @y wHTeT SR |1E
afaRor & wu # Yaftd 2, g fafy seard! @

1. Problem solving method / THIT HHIYUTT fafd

2. Project method / gfarerH fafer

3. Socialized recitation method / ﬂTﬂGﬁW mfa® Gﬂgﬁ—[ fafey ﬂ'ﬂﬁlﬁ urs fafy
4. Discussion method / TR fafy

Correct Answer :-

« Socialized recitation method / SIS Aifa® 3rgf fafd Fgiepd ure fafd

19) The concept of Public Interest Litigation (PIL) was introducedby ./
Sfed et (RomSue # smuRTT | gRIIRE e

1. Justice Sarv Mittra Sikri / <[ ¥d o et

2. Justice P.N. Bhagwati / =aradfa Ut. TF. el

3. Justice H. J. Kania / <GHfd T ST, HiAan

4. Justice Sudhi Ranjan Das / =g et 3o a4

Correct Answer :-

« Justice P.N. Bhagwati / <Iffd O}, TH. YiTach

20) The technique which is often used by all teachers for transacting skills, ideas, attitude
and processes among students is called as ./

B A Piere, faErR), efdeior ik uftrarsil &1 d9-39 &3 & fore srRR I+t e grRT Suai #t
4 9rell a1 &l ST AT 2l

1. Activity-based teaching / TIfafafr smerfed fRigmor
2. Projective technique / T&Ut adh-iid

3. Lecturing / IR

4, Demonstration / T&=

Correct Answer :-



« Demonstration / Q_Qr-‘lﬁ

21) Which of the following is the technique of collecting all the necessary information about
a child with a view to studying and solving his deep-rooted problem? /ﬁﬁ}lﬁf@’d k) GaC]
TP g B TS THT BT I B I 39 56 B4 D1 2P A IS IR H Jot razas
BRI THd $I B AGD 872

1. Experimental study / TR 31—

2. Case study / WE??[

3. Qualitative study / T[UITHSD &Y

4, Quasi experimental study / 3 T 31T

Correct Answer :-

» Case study / WE@[

22) Which among the following is not a function of evaluation? / fFafaifea 4 & CaE k||
Yediw BT TP HTd gl 82

1. It helps to study the entry behaviour of the children in all aspects. / T8 ot U_E@Gﬁ H Sl & Jo
IAER P LT PR | HGE PRAT G|

2. It helps to undertake special instructional programs. / I8 Giﬂa'ﬂm HTIHH M= - H daq
HATB

3. It helps to assess different educational practices. / dg faft Qe snardl &1 siidha &R § Hag
FRAT T

4. It does not provide for individualization of instruction. / Ig ﬁ%—‘ﬂ & Jufaasor » ﬁ“l’Q Yald '_-lﬁ
IRATRI

Correct Answer :-

« It does not provide for individualization of instruction. / g oY & JufadeRur & forg ueH gl
IRATI

23) Which among the following models of teaching belongs to Social Interaction Family?
/ Frgror & Fraferfead gfoar o @ o= wmrfore agwifiar uRar & |@efta 82

1. Concept attainment model / HH g PlISEIGEIE]

2. Jurisprudential model / =TI QA UfHH

3. Non-directive teaching model / 3T R Rrefor wfaam=

4. Advanced organizer model / 39 TSI UfdHH



Correct Answer :-

« Jurisprudential model / =TT RMXd gfaq=

24) What is the full form of SEZ? / ¥ (SEZ) &1 YUl &0 &1 3?2
1. Special Education Zone / far=Iy fRiem &= (T Q\_{@WF[ )

2. Special Economic Zone / oy anffes & @"x’fa ECARIIEEE \_rﬁ:l)
3. Special Equity Zone / faRiy sfect &= @W et Trh:f)

4. Special Equal Zone / fIRIY THM & (TW=d s d 9F)

Correct Answer :-

» Special Economic Zone / fa=iy anffe &= (T SHHITHED SF)

25) Under whose rule Turkan-i-Chihalgani was introduced?
| FHTH-T- T fhad AR & d8d & 31 TS A2

1. Titutmish / SeaioRT
2. Razia Sultan / X oI e

3. Balban / dddd

4, Qutub ud din / a9 I &

Correct Answer :-

o Iltutmish / ST

26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| 5 faeraTR 2me A e dR @1l &1 Rer)’ 3t sufy uror #t?

1. Bukka / gdohl

2. Deva Rayal/ FCRE|

3. Deva Raya Il / CCRIER

4. Krishna Dev Raya / W[ CCR

Correct Answer :-
+ Deva Raya I1/¢a ™ I1

27) Which of the following is found in the earth’s core? / fada t{%ﬁa? PR (P HTT) § 7y
a1 8?



1. Magnesium / ARr
2. Ferrous / ¥
3. Silica / Rifcrept

4, Aluminum / THIHTH

Correct Answer :-

« Ferrous / B¥d

28) Which of the following paradigm followed the Quantitative revolution in the evolution of
geographical though? /

Frafafaa 9 3 fea ufeas = e e & aerere wifa 1 sraxu fear
1. Regional Analysis / &319 fazeioor

2. Areal differentiation / &4 faudiHRr

3. Post Modernism / 3R f1fAddrarg

4. Exploration and description / 3FHT 3R faaRor

Correct Answer :-

« Post Modernism / 3TR ST drdrg

29) Which ruler introduced the price reforms in the market? / fd IS ATER A g ﬁ%lﬁ C4|
AT 1?2

1. Allauddin Khilji / (eI el
2. Firoz Shah Tughlaq / fihRISl =118 qiTcids
3. Mohammad Bin Tughlaq / A9 fa qidd

4, Balban / dcid-

Correct Answer :-

« Allauddin Khilji / 3ATSE A RIcroit

30) Which animal is engraved on Harappan seals? / 88T &1 '5,3?3[ TR 5 STHaR & Seivl far T

??

1. Goat / S

2. Horse / ‘Eﬁ?;T

3. Unicorn/ SR (qﬁE\I’T-f)

4, Cow /I



Correct Answer :-

« Unicorn/ 3HRAT (1)

31) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /

fra daure T=ny= 3 R & feR o #ifte sfter & &u & o fear
1. 8gth
2. 84
3. 860
4. 81%

Correct Answer :-

® 86th

32) Which text is not written by Kalidasa? / PIfeIGTd 2 B AT UY T ferar ??

1. Meghadutam / ﬁw
2. Malvikagnimitram / Wﬂﬁﬁﬁlﬁﬂ'ﬂ

3. Mrichchakatika / Je8ehichy

4, Shakuntalam / RTbdaH

Correct Answer :-

« Mrichchakatika / Je5ehichH

33) NABARD was introduced in JATETS w e famar mar
1. 1972
2. 1982
3. 1988
4, 1990

Correct Answer :-

34) Government has the power to legislate on ‘residuary’ subjects. /

WHR & IR "aRy' v R S 591 $t AfR g1



1. Local / R
2. Unitary / DI
3. Union / 99

4, State /ISY

Correct Answer :-

e Union /g4

35) is an institutional mechanism to provide representation to the states of India. /
U ST 97 8 o WRd & 319l ) iR vee sar 2l

1. Rajya Sabha / JSO{HT

2. State Legislative Assembly / 1o faem =y

3. State Legislative Council / T faem afikeg

4, Vidhan Sabha / f[aum=gHT

Correct Answer :-
 Rajya Sabha / Isg9HI

36) is a process by which the government sells their assets and hand over the management
to the private sector. /

TS Uihan & R gRT SRR ot Hufy dudt @ 3R waiem ) ol 8 & Jfg it 31
1. Privatisation / FSilep0r

2. Liberalisation / 3GRIbRUT

3. Public-private partnership / STaSI-db foil HITGRT

4. Disinvestment / faf a1

Correct Answer :-

¢ Disinvestment / fafaaw

37) means the price of product increases but the value of the product decreases. /_
P Haad g fr IauTe 3t Biua 3¢ ol § AP ITe o1 4o ue A 2|

1. Corruption / UPTER

2. Inflation / GETEITd
3. Hoarding / SHRART



4. Minimum Support Price / |- 1dH T H9

Correct Answer :-

« Inflation / GERWIfd

38) Vedas are also known as : / 9| &1 9g Hl ST ST 8:
1. Smriti / Sfd

2. Nirukta / e

3. Shruti / gfd

4. Kalpa /®cd

Correct Answer :-

« Shruti / gfd

39) Who among the following is known as “the Architect of Indian Planning”? /
Frafafad 3 3 f5 “URd Ao & IRGHR” & &Y | ST o141 872

1, Prasanta Chandra Mahalanobis / URIT d=<x ﬂB‘[FF—ﬁﬁH

2.V V Giri / d 6t it

3. VKR V Rao /dl & 3R d 3@

4. R C Desai / 3R Il 3918

Correct Answer :-
¢ Prasanta Chandra Mahalanobis / URIT<d < II'&']FFﬁﬁF

40) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
YRt "faur guT § uRkieg yrvor rfeve fag 3fet feam fear?

1. K. M. Munshi / &.T9. G&it

2. Somnath Lahiri / SHATY @1iR S

3. Jawaharlal Nehru / STdTgx A1 18®

4, Sarojini Naidu / TRISHI A1Ag

Correct Answer :-

o Jawaharlal Nehru / SIdIgR dld EIEF*

41) Who was the first Governor General of India? / HIRd & Ugd TaR o=Rd H 1 A?



1. Warren Hastings / GIEG| %@m
2. William Bentinck / faferaq dfes

3. Robert Clive / J1a¢ aallsd
4, Lord Cornwallis / T BI-arerd

Correct Answer :-

« William Bentinck / faferas sfes

42) Who had started the magazine Jugantar? / =R (STiaR) URAST B IRE3H1d fhas ot 2
1. Veer Sarvarkar / IR HTaRh

2. Bhagat Singh / HiTd R

3. B G Tilak /ot Sff e

4, Aurobindo Ghosh / 3Rfdg 9y

Correct Answer :-

+ Aurobindo Ghosh / 3Rfdg 9y

43) Who supplies coins in India? / YRd H Ryaw! @1 smyfd @19 #3a18?
1. Security Exchange Board of India / YR wfayfd fafa &

2. Commerce and Industry Ministry / TfOrsg 3R T HTEg

3. Ministry of Finance / fa< @3ieg

4, Reserve Bank of India / YRA oTd S

Correct Answer :-
« Ministry of Finance / fo< T=ie

44) The transfer of ownership, property or business from the government to the private sector is
termed as i

R ¥ el 87 # wifia, Huft a1 gaama & gedaiaror o HET A5
1. Nationalization / JTSIIHRT

2. Globalization / IteRUT

3. Privatisation / ST

4. Liberalization / SGRIBRUI

Correct Answer :-



e Privatisation / fAofteRur

45) The correct concept of evaluation reflects in: / W P gt SraurRun g # uRkafae gidl

1. Diagnostic Evaluation + Formative Evaluation / &I Jedid + ITaTed® HedidhH

2. Summation Evaluation + Measurement / JNTT&dh H1h + HIY
3. Measurement + Judgement / HIU + i

4, Tests + Examinations / Qﬁ&‘lﬂ + OTe

Correct Answer :-
e Measurement + Judgement / {TU + fufg

46) The Social Science which draws its information from both natural sciences and social sciences is:
/ oI faT it urpfae fagm ik arnfore fagm= St 9 it SIS IR} Ut &7 &:

1. Geography / W-E'hﬁ

2. Civics / AR JRA

3. History / i8I
4, Political Science / IS fagm=

Correct Answer :-

e Geography / HTﬁT*I

47) The term “laissez-faire” means____ ./ Req A BR” (Y ifa) BT g I
1. Less government intervention / &8 TRBHRY gWaq

2. Less market intervention / %H STOIR g™

3. More market intervention / 3P TOR Eﬁ%’q

4. More government intervention / 3P TRHRY ewaeaq

Correct Answer :-
e Less government intervention / ®H W@E’R’f@-ﬂq

48) The Great Bath structure was discovered in which city of Indus Valley Civilization? / AT RIR
(fa=mar AT eR) &Y @i Ry ardt waar & fra e d s 42

1. Mohenjodaro / HigfolGs!

2. Lothal / @Y



3. Harappa / gl
4. Dholavira / HIcTdR]

Correct Answer :-

» Mohenjodaro / HigsiGal

49) Seasonal unemployment is a characteristic feature of ./ T} SRR il
o fawar g

1. Agriculture / $

2. Service / ¥l

3. Manufacturing / fafmfor
4, Industry / IR

Correct Answer :-

« Agriculture / $Y

50) When was the Constitution of India adopted? / YRA & WIRIUTH B $F T 4T Y12
1. 26™ January, 1951 / 26 SH&RY,1951

2. 26 January, 1950 / 26 S&RY,1950

3. 26" November, 1949 / 26 &R, 1949

4, 26" November, 1948 / 26 TdaR, 1948

Correct Answer :-

. 260 November, 1949 / 26 TeidR,1949

51) Green Belt Movement is an environmental non-governmental organization. Focused
on afforestation. Who initiated this movement? /

W SeT 3figia T Taiaruiy R-JRBRY TS 21 il {6 g R Higd g1 39 igiad ot
TEAT foaA 12

1. Shirin Ebadi / RRIF Tare]
2. Wangari Mathai / 3Rl 9UTS
3. Helena Norberg / 8T AR

4. Winona La Duke / fa=I-1 &1 S

Correct Answer :-



« Wangari Mathai / IR AU

52) CANCELLED

Which ruler was the first to defeat Muhammad Ghori?
/ GETIG TR P RIS - aTelT UgdT MRS DI UT?
1. Prithviraj Chauhan 111/ G2RTsT AgM g

2. Prithviraj Chauhan II /E[ifﬂ?'l\_rf M fadia

3. Prithviraj Chauhan I / QRIS EINER!

4. Jaichand / STO<<

Correct Answer :-

» Jaichand / SIU<—<

53) CANCELLED

How long did the Challenger Expedition last? / aaoR 3= fraw wag a& gar?
1. Four years / R d§

2. Five years / O ¥

3. 18 months / 18 HeH

4, two years / aray

Correct Answer :-

« Four years / IR aY
54) CANCELLED

Which among the following country is also known as the last remnant of the former Papal
States? /

frafufEa % @ fra 3 o) d tud Red & ifad ey & = & off 91 W 82
1. San Marino / ¥ &1

2. Vatican City / afc® R4t

3. Monaco / HIHT!

4, Malta / Hle<l

Correct Answer :-



« Vatican City / 3f¢s Rl

55) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of
the rebel’?

| TR TG I g1 for e e 31 'AsiEt o1 §d9g ok Had 98TgR 99 Aar & ¥ # afofd far ur?
1. Begum Hazrat Mahal / §7/H §SRd Hed

2. Rani Laxmi Bai /I @&t a1$

3. Bahadur Shah Zafar / 9gTgR Q01§ SthY

4. Kunwar Singh/ $aR Rig

Correct Answer :-

« Rani Laxmi Bai /It @&t a8

56) Cape Agulhas makes the dividing point between which of the two oceans? /
FY T 51 g HeITRI & di fauter fig samar g2

1. The Arctic Ocean and the Atlantic Ocean / 3hich He™NTR 3R 3fcdifed HE™TR

2. The Atlantic Ocean and the Indian Ocean / 3edifed LERESIRIEY 3R ]%‘c{ HERIR

3. The Pacific Ocean and the Atlantic Ocean / URId HEIFR 3R 3fedifed HE™TR

4. The Indian Ocean and the Pacific Ocean / fgc AEMIFR 3R UIid AR

Correct Answer :-

« The Atlantic Ocean and the Indian Ocean / 3icdifc® HeNR 3R fge AgRTR

57) Which is the largest fresh water lake in the world by volume of water?/
T AT FR 9 g o) e ) e e ot s e R 2

1. Lake Michigan / TR gfia

2. Lake Malawi / HTeiTd! Siiet

3. Lake Baikal / éwsﬂa

4, Great Bear Lake / 9¢ 9% aﬁa

Correct Answer :-

o Lake Baikal / éwsﬁa

58) In which of the following seasons, brief squalls and thunderstorms known as

Kalbaisakhi, or Nor’westers, often occur? / fFafeaf@d # 4 fog Muw #, Fradard a1 ARawd &



U H M o1 1d B T 3R 3l 3R 3iTelt 3@t 82
1. Early winter / 3Tt wfeai &

2. Early summer / 3Tl Tl &

3. Rainy Season / STR= & HieH &

4. Late winter / §T& &1 Ffeal &

Correct Answer :-

« Early summer / 3Tt i &

59) Which among the following country is considered to be the Origin of Coffee Plant? /
fFrafafEd & & {59 ¢ o) 16! & N ST ¥ad 9H1 o1aT 82

1. Vietnam / [dgamH
2. Peru / TRF

3. Ethiopia / ERBIIEp
4. Brazil / STSitd

Correct Answer :-

« Ethiopia / iy

60) Who helped in taking transformative steps in India’s foreign policy and persisted in
making peace with Pakistan emphasizing that a state can choose its friends but not its
neighbors? /

fraa uRa @1 faew Hifa & uRadTeR $eH I5H A Aeraar $t 3R UIfhw & I1Y Wifd s 3@9
TR R ¢d §U Fel foh T 3o 31U- SRl &1 I Tl @ Afb=T 3 TSRl &t 1812

1. V.P. Singh / dt. 4. Rig

2. 1.K. Gujral / 313 T[oRTd

3. L.K.Advani / Td@. &. 3Tsaruft

4. Atal Bihari Vajpayee / 3fcd fogR! areru

Correct Answer :-

« Atal Bihari Vajpayee / 3fcd fogR! arerod



